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Quenched Bragg Fit

E, = 80 MeV
—T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I T T T T I X2 / ndf 1292e+04 / 15
— R, 50.82 + 0.00
1.6— Oq 2.064 + 0.002
— ®,  4.24e-08 +5.11e-11
14— kB 0.0631 + 0.0004
— — Measured PDL
— m— Fitted Quenched Bragg Curve
— — econstructed Bra urve
1'2 — — ieference BragE; Cgugrv(;
1— —]
0.8— —
0.6— —]
0.4 = —
0.2— —
O— —
———— i —— i =
1.05— _ —]
1 — _
0.95— —_ |
1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1
0 10 20 40 50 70 80 90

WET (mm)



	Contents
	Page 1


